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1. ‘wea Fwfe @ sl vl 91 ST FTe e,

(1) TA9EFS @) =
(8) i eI (4) 9T
2 Wmmﬁgﬁ‘m%%mmmwmmm
SHiorar ?
(1) =R, F9Rd, JreT (2) wreRdl, srd, aTo
(3) W, wiaHt, T (4) R, qordh,
3. Y ST W9 i
T srEeTe SremEs ot A,
(1) wofi (2) =t
(3) v (4) "FHF FHAQ
4. ‘ﬁma"rmaz’rﬁt’wmi |
(1) == 9g =10 (2) SIS gt
(3) =Rt A0 (4) gy i aren
5. ‘g @’ a1 aresEwrET 31 v 7
' (1) W& STeITEt @ (2) WTER =0t
(3) sumfioed (4) wafad
6. gaﬁaﬁaﬁaﬁvmm‘m’m,ﬁaﬁm?
(1) T% : (2) fomr
(3) == (4) 9IS

7. 'lE’ A1 SEAATERH TR FISHCAT YEIer FIOTT TTETER ‘AN 0 77 syerfar 3 ?
(1) @30
(2) die % wo
(3) dieTel HTe Hreot
(4) dieusht gen

THoedT HINTETS! AFT/SPACE FOR ROUGH WORK
A P.T.O.
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8. Tl srut=h v et vaidt Setidier Fivrd o ?
T FATER e 6 g A wronadt wlt weda st
(1) WISRI=AT TeATd ©eT HIvf sem ?
(2) wiSRA gy TRk, 9ot = e urfea.
(8) i 2 foean femg =i wvma T,
(4) WTSR FE, GiETe ARG,

9. ‘Rearet’ ar vseran g o TR,

(1) R+ 9= (2) R + et
(3) R + wer (4) & + T
10. ‘SISIRIG TRESITET Web STe] 811, I1 ATETq THTIEY’ SFARIE YIsE VAT R 7
(1) TS (2 @
(3) =g (4) @
1. gt Gaarersd aof v ? __
(1) %9, 71,9 @ 9,8, 9,9
@) LTI T 4) L, % 9, %
12, THEeH @S Havid Ta SAUdie FIU I TREERE TR 7
(1) * (2) T
(3) (4) @
13. ‘a1l a1 | am fey fafeen s q 1’ a1 e Saerrii s ST SR s o ?
(1) ‘e et (2 R
(3) =i (4) wwfy e
14. ‘Wﬁ’awﬁwmmz’m?
(1) UrTee (2) TTORSART FHot
(3) wroft urS} (4) Y= =wO

15. e AreITdiel TdRREa ea, eI FIvR YERTde R, ¥ sitear.
‘foere @i R, A wen Areda A
(1) @t g (2) ffer wdam
(3) gEvaTEH TAIH . ' (4) =% wETm

eI HIATATS! T /SPACE FOR ROUGH WORK
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16.

I. Smallpox is a contagious disease.
Il. France and Germany are contiguous countries.

Pick out the correct sentence.
(1) Only lis correct (2) Only1lis correct
(3) Bothland Il are incorrect (4) Bothland Il are correct

1%

What do the underlined words below respectively mean ?
The defusion has been effective.
The diffusion has been effective.

(1) release of tension and distribution  (2) distribution and release of tension
(3) separation and obliteration (4) obliteration and separation

18.

Fill the blank with the most appropriate word from the ones given below.

The horse jumped over the
(1) style (2) stoil (3) styil (4) stile

19.

Identify the type of sentence given below :

He is unhappy because he knows no gratitude.

(1) Simple (2) Compound

(3) Complex (4) Compound-Complex

20.

Although no goals were scored, it was an exciting game.

Identify the type of clause underlined.

(1) Noun clause (2) Adijective clause

(3) Adverb clause of condition (4) Adverb clause of contrast

21.

Choose the best active voice structure for the following sentence :

She was given three increments for her outstanding performance.

(1) Three increments were given to her for her outstanding performance.

(2) Her employers gave her three increments for her outstanding performance.
(3) Three increments for her outstanding performance were given to her.

(4) Her outstanding performance fetched her three increments.

22

The more we looked at the piece of modern art,

Complete the sentence choosing the correct alternative.
(1) itlooked better (2) the less we liked it
(3) we liked it more (4) we liked it less

HeedT HIWTETS! AWTT/SPACE FOR ROUGH WORK

A

P.T.O.
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23. Fillin the blank with the correct degree of comparison.
Between the two options you have,

(1) the former is best (2) the former is the best
(8) the former is good (4) the former is better

24. State the meaning of the idiom underlined in the following sentence :

‘You must look after your parents.’
(1) tolook at (2) to look down upon
(3) to take care of (4) tolook up

25. Choose the most appropriate synonym for the underlined word.

He was punished for his recalcitrance. , :
(1) disobedience (2) honesty (3) dishonesty (4) obstinacy

26. Choose the word opposite in meaning to the word underlined to complete the

sentence.
He led an ascetic life but his wife had her ways.
(1) austere (2) pampas (3) artificial (4) self-indulgent

27. Substitute the underlined phrase with a suitable word.

The roof gave in because of heavy rains.
(1) collapsed (2) began leaking (3) blew off (4) tilted

28. Pick out the correct substitute for the following :

Word for word
(1) verbatim (2) - verbose (3) verbal _ (4) synonym

29. Which among the options given below is the correct one for filling in the blank ?
Mustard oil doesn't suit all :
(1) pallets (2) palettes (3) palates (4) pellets

30. He said, "Give all the help you can."
Pick out the correct indirect narration of the above sentence.
(1) He asked them to give all the help they could.
(2) Letthem give all the help they could.
(8) He asked them that they should give all the help they could.
(4) He asked them give all the help they could.

Hoedl HIHTATS! ATTT/SPACE FOR ROUGH WORK
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31.

wrefie fum femmd =

(37) TodE TS ARTEETTE ST (NCBC)WMMWMW%@.

(F) HeTg AR G ST el geesn W aiAT TSR YA ST SR,

(1) faum (31) ser, (F) T (2) faum (9) 0=, (31) THE

(3) A= faum s (4) e R g

Consider the following statements :

(A) Recently, the Lok-Sabha passed a bill to accord Constitutional status to the
National Commission for Backward Classes (NCBC)

(B) This Commission will hear the grievances of socially and educationally
backward classes.

(1) Statement (A) is correct, (B) is false (2) Statement (B) is correct, (A) is false

(3) Both the statements are correct (4) Both the statements are false

32.

mmmmﬂmmﬁmmﬁa 2017 7 ‘Rreares ey W
AT EreferiEh! ST T e el 3R 7
(1) WEWTSE (2) HEIRH (3) T (4) IATES

Which of the following state has launched in April 2017 ‘Deendayal Antyodaya
Rasoi Yojana’ to provide food at subsidized rate to the poor in urban areas ?
(1) Maharashtra (2) Madhya Pradesh (3) Gujarat (4) Uttarakhand

33. ufiE, 017 TE} ARG ST SRR WISATHTI FH FOATT AT

(31) WRd, SR 32,140 A T THd s .

(@) Sriferqut SRITETEY AT Jeste ST R,

(%) e 7 aroft ST A FEEE FOA .

(3) THT 22 FAR FUAR 3TeA.

e o/ e S T 7
(1) (3) v (2) (%)
(3) (1) =nfor (<) W ' (4) (%) nfor (3) %o

Following are the agreements made by India and Bangladesh in April, 2017
(a) India will give Bangladesh a loan upto Rs. 32,140 crore

(b) Use of Nuclear power for peaceful means.

(c) Proper solution has been made for the Teesta river water dispute.

(d) Total 22 agreements were done.

Which of the statements given above is/are incorrect ?

(1) (d)only (2) (c)only

(3) (a)and (d) only (4) (c)and (d) only

HEST HIHTATS! AHTT/SPACE FOR ROUGH WORK

A

P.T.O.
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34, WWMWWWWWWE@M?
(31) <t Fere GHeen Hefer HOTH Hatq w0 S e .
(9) o FTeT AT TSI O e safRmeie Faer v o
(%) ﬁaﬁt{gﬂammﬁwwﬁa@mm}

(1) (1) 2 @) 3 @) (4) alicTiht T e
Which one of the following statements about Nobel laureate Malala Yousufzai is
incorrect ?

(A) She became the youngest person to address the Canada'’s Parliament.
(B) She is one of just six people to receive honorary Canadian citizenship.
(C) She is selected as United Nations messenger of Peace.

(1) (A) (2) (B) (3) (C) (4) None of the above
35. 64 = Ui femve qemn el Heliee FEY TV vl qreRn e s 7 |

(1) AT3r Marfe (2) gftEm w&

(3) HficT gehaur (4) TS AR

Who won the award for ‘Best Director’ at the ‘64t National Film Awards’ ?

(1) Ashutosh Gowarikar , (2) Sumitra Bhave

(8) Sunil Sukthankar ; (4) Rajesh Mapuskar

36. el faum famma = .
(37) ‘Sxergy’ iR g = 7 o 2016 it F& el
(a)%r%mmﬂameﬁmmamagwm%. -
(%) e 3 TTHe) I Sige WaE 39 S S TrmTaTeE gl wmet s,
(8) 7 T g mmmmﬁawmmmmmm
(1) faem (a1), (%), (%) s
(@) Fum (=), (%), (z) o=
(3) famm (=), (3), (), () w=
(4) fm @), (%), (3) s
Consider the following statements :
(A) Third phase of mission ‘Indradhanush’ began on 7 April 2016.
(B) Itwill cover 216 districts across the country.
(C) Under the last two phases nearly 39 lakh children have been fully immunised
across the country.
(D) Under this vaccination programme against 7 diseases, all vaccines will made
~available free of cost. :
(1) Statements (A), (B), (C) are correct
(2) Statements (A), (C), (D) are correct
(3) Statements (A), (B), (C), (D) are correct

(4) Statements (B), (C), (D) are correct

oo HTATATS! TAHTT/SPACE FOR ROUGH WORK
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37. Grefie fam e @
(21) mmwmmmmnammmmmmmm

_A3E.
(@) Frerdren TRIST GUT=TeT g1 e dTedict oo el Herdh hIHmE eedn Jdiet.
(&) e freiefia St Y we Riear aiwe=n gea Hrert AFTATEHS T
Hfg=rrea o1 ordfie FoaTEn AHR R,

et Fvra R /R Sler o /e ?

(1) (1) % (2) (=), (®) (3) @), (=) ) (31), @), (F)
Consider the following statements : ;

(A) A Panchayat may appoint such servants as may be necessary for the proper

dlscharge of its duties.
(B) A Sarpanch may also, in case of emergency engage such temporary servants as

- may deem necessary.
(C) A servant suspended by Panchayat have right to appeal directly to the Chief

Executive Officer of Zilla Parishad within one month.

Which of the statements given above is/are correct ?
(1) (A)only (2) (A)(B) (3) (B),(C) (4) (A),(B),(C)

38, wrefer faum fremoe =
(31) 1975 Tredt seﬂua@aﬁﬂmﬁaﬁmm&ﬁa@wmaﬁ%Wm
() vt TsgEe=A ®em 371 ﬁ)mwmﬁmm 30 Y&
SR AE 3 AT et AR,

et For/d farem /3 s IR /4 ?
(1) W (1) (2) % (%) (3) (1) 3nfor (@) (4) e R
Consider the following statements :
(A) By 36™ amendment of 1975, Sikkim was awarded the status of full-fledge state of

the Union of India.
(B) According to Article 371(F) of Indian Constitution the Legislative Assembly of the

state of Sikkim shall consist of not less than thirty members.
Which of the statement/s given above is/are correct ?
(1) Only (A) (2) Only (B) (3) (A)and (B) (4) None of the above

THeedl HIATATS! WRTT/SPACE FOR ROUGH WORK _
A P.T.O.
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39. Tefierieh! v A TeaTE=T ‘SigeaE 75’ ek amRa 7
(1) mmmmﬁwmﬁ
(@) whfyg dierase arEEwe sETer sk,
(%) TTeE GhReds wd foks Fefm 2 dayumi sde s@e,
(®) ﬁmiﬂugwﬂamﬁmﬁmﬁmmaﬂﬁrmmaﬁvmmmaﬁmmw

el et AR 7,
(1) &), @), (#), (3) ) (), (#), (3)
(3) () amifoy (=) (4) (31) 3nfor (=)

Which of the following are the provisions of ‘Article 75’ of the Constitution ?

(A) Ministers shall be appointed by the President on the advice of Prime Minister.

(B) The Council of Ministers shall be collectively responsible to the House of People.

(C) Itshall be the duty of the Prime Minister to communicate to the President all
decisions of the Council of Ministers.

(D) The question whether any and if so what advice was tendered by Ministers to the
President shall not be inquired into in any Court,

(1) (A),(B),(C, (D) (2) (A),(C), (D)
(3) (B)and(C) G (4) (A)and (B)
40. éﬁmaﬁwmmm@ﬁ.aﬁﬁmﬁmwﬁma&mgﬁhﬁﬁ%?
(1). 3. sft. Foar (2) . 4t . A
(3) . TrsmgTeTETh (4) & A FomwEEm

Who proposed the name of Dr. Sachhidanand Sinha for the post of provisional
President of Constituent Assembly ?

(1) J.B. Kripalani (2) Dr.B.R. Ambedkar

(8) C. Rajagopalachari (4) T.T. Krishnamachari

M. T T 1946 WA SR Hre frerme) gt F wew w7
(1) e Ahede, u. . sramiet afr wire afzeh
(2) = Ul ait, W e B onfir v, o, srdiie
(3) i sigeft, Wy Ve frew anfr v, W, erdwmier
(4) e W, u. . sremiet anfi vy A ity

Who from the following were the members of the Cabinet Mission which came to
India in March, 1946 ? '

(1) Lord Mountbatten, A. C. Alexander and Lord Attlee

(2) Sir Pathick Lawrence, Sir Stafford Cripps and A. C. Alexander

(3) Lord Attlee, Sir Stafford Cripps and A. C. Alexander

(4) Lord Mountbatten, A. C. Alexander and Sir Pathick Lawrence
HeedT HIMTATS! TOTT/SPACE FOR ROUGH WORK
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42. sty ST A @ TR et e v 19 T 1910 Usht Ff FRR HewThs
HIvfl S qISe ?
(1) wewd $ (2) e T THe
(3) wiE Aepict : (4) TITeS FOU IS

On 19t March, 1910, who put forward a proposal in the Central Legislative
Assembly to make primary education free and compulsory to the Indian people ?

(1) Mahatma Phule (2) Mahadev Govind Ranade

(3) Lord MaCaulay (4) Gopal Krishna Gokhale
43. et T S T Hfe FTTE T heft ¢

(1) AFdEETE Seh (2) ufear wmETg

(3) . ifa e (4) IFadERETE TE

Who from the following persons established Arya Mahila Samaj ?

(1) Anandibai Joshi ; (2) Pandita Ramabai

(3) Dr. Annie Besant (4) Avantikabai Gokhale
44, ‘weE O GRS HEAGE TR 7

(1) TS AT (2) TS g TS

(3) " & e (4) TR TIGUT TEESH

Who was the founder of ‘Manav Dharma Sabha’ ?

(1) Balkrishna Jambhekar (2) BhauDaji Lad

(3) Gopal Hari Deshmukh (4) Dadoba Pandurang Tarkhadkar

45. AT FITA T W= HI0T A0 gie 7
(37) WA GERR Hiw=ard SE
(F) aFAieD HHH FEd
(F) R FTiEE g wTE
(2) R fiesaups o aiear
(1) (@), @), &), (3 (2) @ (31) 3or (3)
(3) e (a) 3Tfor () (4) v (a1) I ()
What were the demands of the National Congress in its initial stages ?
(A) The Indians should be given government jobs
(B) To lessen the taxes that were imposed on the farmers
(C) Toremove the poverty of the Indians
(D) To stop the exploitation of the Indians
(1) (A),(B),(C), (D) (2) (A)and (D) only
(3) (B)and (C) only (4) (A)and (C) only
HesdT HINTATE! AT /SPACE FOR ROUGH WORK
A : P.T.O.
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46. oo 9 firamda aream wian saTdier wesh FToereh ufteh e A9 Yefaredt e,
(1) @ (2) Had (3) ¥R (4) Wz
In the presence of Tilak and Shiviampant, the first bonfire of the foreign goods in
India was made at
(1) Pune (2) Mumbai (3) Nasik (4) Madras
47. Grefia FHiviar U9 ST, 1S T @ g frfeen ?
(1) @I (2) sfaefEran
(3) Tersgsmfaemy (4) it s
Which of the following book was authored by Dr. Bhau Daji Lad ?
(1) Rasayanashastra (2) Jatibhedavivekasara
(3) Shishyajanavilapa (4) Stree Bal Hatya
48. @refiTdsh! Hivrar Uy UfEar et fafen ?
(1) =it o At : (2) g=m
(8) W Siisfiaa (4) wediFe
Which of the following book was authored by Pandita Ramabai ?
(1) Stree Dharma Neeti ; (2) Sanmarga
(3) Bharteeya Streejeevan (4) Laxmignyan
49. SEn SEEL
(31) HreaTR i) wEaE
() @HeW i) TSl e
(%) gerd iii) form e
(3) TR iv) TR g
= @ @& (3
' MO i iii iv
(2) iv iii i i
(3) ii iii iv i
(4) i iv i i
Match the following :
(A) Kolhapur i) Bhagwantrao
(B) Khandesh ii) Ramiji Shirsath
(C) Mumbai ili) Bhima Naik
(D) Nasik iv) Gulmar Dube
(A) (B) (C) (D)
0 et ii iii iv
(2) iv iii ii i
(8) ii iii iv i
(4) iii iv i ii

Hoedl HIHTHTS! WHT/SPACE FOR ROUGH WORK
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50. RATHEY 3eh ATGET TSR @ SRl 3 fEm,
' (1) @fe = | () faeaw =

(3) < st (4) @E FHFm
Doctrine of lapse was adopted by in India.
(1) Lord Hastings (2) William Bentinck
(3) Lord Dalhousie (4) Lord Canning

51. W e 87 Wi IcEH IR, W ' aniftr TR wfrsTEn aEE e IR,
(1) 83w, 5 fvas (2) 43R, 3omfes -
(3) 23w, 1 anfvas (4) 63w, 8 Infoa=
India produces as many as 87 minerals, which includes and other minerals.
(1) 8 fuel, 5 atomic (2) 4 fuel, 3 atomic
(3) 2 fuel, 1 atomic ' (4) 6 fuel, 8 atomic

52, WRNITE 1951 HTeh uften st e 7% B, W= Hean 1971 i 1991 wreft fohft wneft 7
(1) 11emfr2z - (2) 127 18 (3) 28 aufor 36 (4) 18 =mfor 27
In 1951 there were nine class one cities in Maharashtra. How many class one
cities were found in 1971 and 1991 ?
(1) 11 and 27 (2) 12and 18 (8) 28 and 36 (4) 18 and 27

53. IR I, S-S S -y € e SR e . foewimed Jed.
(1) emer, aifim amfor go (2) S, fémeh smfor qor
(3) 9B, Fereron v (4) 933, Tiee or AR
The Aner Dam, Amba-Barva and Mayureshwar-Supe wild life sanctuary are belongs
to districts respectively.
(1) Nandurbar, Washim and Pune (2) Jalgaon, Hingoli and Pune
(3) Dhule, Buldhana and Pune (4) Dhule, Nanded and Latur

54. Rurdien soten fiy @ S TEE TefEs e ged s{@éwa?mrsvmm ?
(1) gea Rawer (g femrer) (2) 7 fewrer
(3) 3= fRwre™ - (4) o

The mountain range situated to the North of Himadri beyond the valleys of
Brahmaputra and Sindhu river known as

(1) Greater Himalaya (2) Trans Himalaya

(3) Lesser Himalaya ; (4) Siwaliks

HosdT HIATATA! AHT/SPACE FOR ROUGH WORK

P.T.O.



Qo9 14 VAR
55. meﬁamaﬁvwﬁmm@ﬁm%maﬁ?

(1) g (2) HieTg
(3) SmE (4) Tryoft
In'which of the following district Bauxite mineral is produced ?
(1) Solapur (2) Kolhapur
(3) Jalgaon (4) Parbhani
56. vEa It RETETER W, w0 deeea 4T §ATH SEeTeT T el SRRt
TR FAT A s B
(1) 4 (2) 8 (3) 12 (4) 16
NMSA derives its mandate from sustainable agricultural mission which is one of
the : missions outlines under national action plan for climate change.
(1) 4 (2) 8 : (3) 12 (4) 16

57. ﬁmmmmmmwmﬁwma@mm
v e wratare aratar. an afedEr sgn
(31) 1w a@ el gediem searew frdismm 2,
(%) e Sremdsied e R fraverard gt
(F) ST G TRV Heq .
(3) =t wd Frtwed 3y,

?ﬁ'-‘ﬂ‘ﬂfﬂﬁﬂm
(1) (31) for (a1) e (2) (=) e (&) wer
(3) (31) aifor (=) W (4) (3) %

Farmers can make use of market information to 'plan agricultural production,
harvesting dates and post-harvest operations. It helps

(@) in production planning based on short and long term

(b) in obtaining better prices for products in the market

(c) in stabilising the income

(d) in all the above works

Choose the correct option :

(1) (a)and (b) only (2) (b)and (c) only

(3) (a)and (c) only (4) (d) only

TSl HIATATST TUTT/SPACE FOR ROUGH WORK
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58.

AGMARKNET He2 qéie 798 sheiedt e ijd gram.

(1) Famferen mied= Feafhn '

(2) FN wehy Arfed Feafhn ,

(3) nufirs FN gaqEel e Feathn

(4) 7,000 F e T FSRIS GE= 32000 Trior Y e SIS AeathT

AGMARKNET covers following mentioned organisations.

(1) Networking of horticultural information

(2) Networking of agricultural research information system

(3) Networking of agricultural primary credit societies -

(4) Networking of 7,000 agricultural produce wholesale markets and 32,000 rural
agricultural produce markets

59.

AT T 196768 75 o ufeeh i S, ot wrefter Foren FY AR ger
Freht 7 _ |
(1) u.ft. st ‘ (2) L T T

(3) TH.UH, WHMIUA y (4) =& T

First green revolution that started in India during 1967-68 was mainly due to great
agricultural scientist viz;

(1) A.B. Joshi ©(2) M.S.Randhawa

(3) M. S. Swaminathan (4) V. Kurien

e ) P e ST 30T e o Hen A 7

(1) IMF (2) SBlI (3) RBI (4) RRB
Inflationary pressure in the economy of country is controlled by monetary policies by
(1) IMF (2) sBI ‘3) RBI (4) RRB

61.

o STl e S SvETETdl, WeRrs e (1973) Wrefletish! 10Tt AT FEgUH
e

(1) SFDA (2) qedr (EGS)

(3) =um (NREGA) (4) IRDP

Which of the scheme was first introduced by Maharashtra Government (1973) to
reduce the unemployment rate in rural areas ?

(1) SFDA (2) EGS

(3) NREGA (4) IRDP

FHoedT HTHTATS! WRT/SPACE FOR ROUGH WORK
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62. wErEl Wi F9t 92 Wbt e RICERCCER

(1) =Fafa (2) wmadr
(3) (1) 3nfor (2) St (4) Tl wivrae T
An Indian company may receive foreign direct investment under route.
(1) Automatic _ : (2) Government
(3) (1)and (2) both (4) None of the above
63. guia wateor (wewr) Fwa, 1999 FuR T BHh FrEn el TOad digar et
STt i St g B w7 |

(1) 1253w (2) 150 S (3) 180Hw@  (4) 200 s
What is the average level of ‘sound’ in public places that is permitted by Modified
Environment (Protection) Law, 1999 that will not cause sound pollution ? _
(1) 125 decibel (2) 150 decibel (3) 180 decibel  (4) 200 decibel

64. e SirefiehiRome Yafife T saomET SR AR H
(1) = i3 a1 wrmT <= 2
(2) @R (resource) fata Fam,
(3) wmwETER (resources) WTe a2 Jaam.
(4) mmwmwﬁﬁammwm. '
Increased industrialization exhaust the natural resources in abundant quantities
because :
(1) As they destroy these resources during the process
(2) Asthey export them
(3) As they own them i
(4) As they use these resources as raw material during process

65. FaIdleT SgYOISS, Yeafiariet enqarme U e T SR, =S

(31) wRmH aEs R () &M (seasons) S FeT AR
(F) FfY IRFITed 92 e om (3) 34 IAAME T2 Wl am
a‘mmﬁam:

(1) e (37) (@) () @) (3) (@) (F) (4) v (2)

Due to air pollution, temperature on the earth has increased marginally which results
into

(@) Increase in rainfall (b) Change in seasons

(c) Decline in agricultural production (d) Increase in milk production

Choose appropriate answer :
(1) Only (a) (2) (a)and (b) (3) (b)and (c) (4) Only (d)

Hesdl HITHETST ARTT/SPACE FOR ROUGH WORK
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66. FRTEA, GIUr FoaT= UhTfcheh SIaEATIA € HeheuaT JUgTe HRUT TRURH
(1) Fereamamererran stfa T
() f=mmen aifq
(%) TETES arET qige g G a1t
(8) eeft Amernian afd AT
I g faer
(1) (a1) afor (3) (2) et (¥) (3) W () (4) et () fon (3)

The concept of Integrated Nutrient Management in Agriculture has arisen because of
(a) Excessive use of pesticides
(b) Excessive use of irrigation
(c) Imbalanced and excessive use of chemical fertilizers
(d) Excessive use of fungicides
Choose right statement :
. (1) (a)and(d) (2) only (b) (3) only (c) (4) only (c) and (d)

67. dureAT 1952 =41 a4 GRONFER i dndeht frt oo & R SmaTelt 2rat TR TR
(1) Hau =k (2) dedi| T (3) =S T (4) Fua o=k

According to Forest Policy in 1952, out of geographical area of our country, the
coverage of forest should be to the tune of

(1) 17 percent (2) 33 percent (3) 40 percent (4) 43 percent

68. TAY WEYVI 2 ATAEUITI AT STUET ATAH sz fafire aftom S,
(1) sitfaen (2) TEmEfE (3) e (4) atw wd

Air pollution is the resultant of the direct or indirect change in
characteristics of atmosphere.

(1) Physical (2) Chemical (3) Biological (4) All of the above
69. AGMARKNET # Jsmse geiershi Hivrdt afedt g ?

(31) IRl TES (%) Dawrerrean fHad

(%) JEBER (3) Fterteh wd

(1) (31) nfor (=) s (2) (=) snfor () werd

(3) (1) amifor () Farc (4) (%) w

AGMARKNET website provides the information on :

(@) Consumer preferences (b) Prices of Agricultural products

(c) Suppliers (d) All of the above

(1) (a)and (b) only (2) (b)and (c) only

(3) (a)and(c) only (4) (d) only

HeedT HIATATS! ATT/SPACE FOR ROUGH WORK
A P.T.O.
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70. U1 TN 3uE @ R v freamsd agas am.

(1) e (2) < (3) @ (4) fawan
Rohia National Park is situated in district of Himachal Pradesh.
(1ﬁ) Kullu (2) Chamba (3) Mandi (4) Simla

71, GYR UGHATR 3 9 HN dHeton W, Hgfera Y sraemEme gdhe it siqvts 2.
(1) wraTamgR fgise snfor deeor
() aifiren anftr deerene seer uitfmar
(%) wrreht st el seaffedta snftr wfsara ymis
(1) (Fa@E (2 ()7 3) (M3 (e) (4) = wd
According to Food and Agriculture Organization of the United Nations, in sustainable
agriculture it is expected that
(a) Management and conservation of resource base
(b) Orientation of technological and institutional changes
(c) Ensuring attainment and continued satisfaction of human needs for present and

. future
(1) (a)and (b) (2) (b)and(c) - (3) (a)and(d) (4) All the above
72. 9 q FI I GAHER S _ 1 GHET 3T
(1) &F==r 9re (2) fesht fawgs
(3) aferer ITe @d (4) a0 wa
Till today, small scale and cottage industries are facing problems.
(1) Raw material (2) Sale
(3) High production cost ~ (4) All of the above
73. 9RAT Sefiheiet H1eT Iuersy (2004-05) wifeeigan arfes Waredie e yam 28% 7.
N HRHEA SATERIH, o= e (Ferdt) s AR,
(1) wfer i 3000 Y Fft Fertrat (2) wfa fe7 2850 g Feft Forlier
(3) wfa f&7 2600 der Feft Ferdisr (4) wfa fer 2450 Yarm ot Fertsr

In India, the population living below poverty level has been estimated to be 28%
(based on 2004-05 data). Indicate the calories consumption levels of such
population.

(1) Less than 3000 calories per day (2) Less than 2850 calories per day

(8) Less than 2600 calories perday  (4) Less than 2450 calories per day

74. NT@ GERA WWWWW(NHHM)@W;
(1) 12f@ 2005 (2) 12 wfer 2006 (3) 12 ufier 2007 (4) 12 ufyer 2008

The Gowt. of India has launched NRHM on
(1) 12 April 2005 (2) 12 April 2006  (3) 12 April 2007 (4) 12 April 2008

THesdT HITHTS! WHTT/SPACE FOR ROUGH WORK
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75. e R T TR T Serde SH e ieEE AR,

(1) ared (2) wed (3) wrEd (4) Tt =
Share of agriculture in national income of India has been over the year.
(1) Increasing (2) Decreasing (38) Constant (4) None of the above

76.

TR ATl 3TIfOT 3ue S, 3 SRR T I T o R I e S T 7
(1) agss fi=m | (2) foue fo=m

(3) g fér=m | (4) v féem

Which method of irrigation is useful for sandy soils and shallow lands where land
levelling is not possible ?

(1) Sub-surface irrigation (2) Drip irrigation

(3) Sprinkler irrigation (4) Surface irrigation

A e gt vamardt daeiier e

(1) gEawdE d aErE, $o Juar, s oA

(2) o Avarh, wEn FewEh

(3) i faefira Sromdt, T wAw EvarEh

(4) TS AR, F Avareh, T AT

Critical growth stage for irrigation in soya bean crop
(1) Early seedling, flowering, pod formation

(2) Flowering, branching

(3) Pod development, nodule formation

(4) Root development, flowering, pod formation

78.

e FTereTier TvATET YETE RIS AT A |,

(1) 3| T T=E (2) @ T FTRfeEas

(3) Ui W 9 fietie - (4) ot Td

Name the devices used to measure the flow of water in an irrigation channel.
(1) Weirs and notches (2) Notches and orifices

(38) Parshall flumes and meter gates (4) All of the above

79.

aroft Jugreat uT i Tedige HTuTr: qroft s .

(1) 10d 15% (2) 157 20% (3) 30d 40% (4) 50%
Sprinkler method of irrigation saves about of water.

(1) 10t0 15% (2) 15t020% (8) 30to40% (4) 50%

Heed HIUTATS! ATT/SPACE FOR ROUGH WORK
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80. (mvﬂa) ﬁaﬁmmﬁm IR o .
H) qIGHHT - 0T &0 ST y
@) = ( ) FemeR fiemmard) st ot e,
(1) (31) , 99 (&) A (2) (=) s, o (37) e
(3) TR IR (4) TH R
Consider the following statements and answer accordingly.
(a) In sandy soil, the water holding capacity is high.
(b) It (sandy soil) requires higher quantity of water for irrigation.
(1) (a)is correct, but (b) not (2) (b)is correct, but (a) not
(3) Both are correct (4) Both are incorrect

81. WWWMW@%H&WW%/%W?
(37) Avena sativa () Hordeum vulgare

(%) Sorghum sudanens (3) Pennisetum purpureum
(1) e (37) (2) w4 (%) 3) (M3 @) (4) et o
Among the rabi non-leguminous fodder crops, which is/are the most important ?
(a) Avena sativa (b) Hordeum vulgare
(c) Sorghum sudanens (d) Pennisetum purpureum

(1) Only (a) (2) Only (d) (3) (a)and (b) (4) All of the above

82. IWMEE! IF Hﬁﬁ;%?ﬂ a1y forer.

() % T gUTETS .

(%) qaftt T IR,

(®) TSH 22 - 24 e,

() IE) @ @), @a@E) @ @Wa@E  (4) b
Write the true sentence/s regarding Osmanabadi Goat.
~(a) Found in Latur, Tuljapur, Udgir Taluk
(b) Useful for meat and milk
(¢) Mostly brown colour

(d) Body weight is 22 - 24 kg '
(1) (a)and (d) (2) (a),(b)and(c) (3) (a)and (b) (4) All above

83. mmwmm@ﬁamﬁwmwmmﬂmm
TR ¢
(1) %3 7 wrsfaren (2) waTe 9 wrEEE qi
(3) sitweft 7 grieft aaerch (4) et 7

Which horticultural crops are the rich source of vitamins and minerals and are called
as ‘protective foods’ ?

(1) Fruits and vegetables (2) 'Spices and plantation crops
(3) Medicinal and aromatic plants (4) All of the above

FHoedT HIMTHTS! WITT/SPACE FOR ROUGH WORK
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84. ‘‘TTETEN QU WG ASHTSAT zah g fenuie sram.
(1) 5% d 10% (2) 10%d18%  (3) 18% ¥28%  (4) 28% 1 40%
“Infant milk foods” contains percent milk fat by weight.

(1) 5%1010%  (2) 10%t018%  (3) 18%1t028% (4) 28%to 40%

85. “gire e & ATor HivTe dieTe Fetd AR 7

(1) uog (2) =rEre (3) @&m (4) *HA
The variety ‘safed velchi’ belongs to which crop ?
(1) Papaya (2) Cinnamon (3) Clove (4) Banana

86. SR TR T TN TESHUIE HR F AR ?

(1) s (2) i amft 20 3) e o (4) e Ao
Splitting of Fig fruits at maturity (ripening) is due to
(1) Winds (2) Less irrigation (3) High humidity (4) High temperature
87. e FOTT TSR s e e 3 AR g srferd A ?
' 1) ¥ (2) FYUTRA '
(3) afaeTg (4) HETIRY
in which State, the coconut based agro forestry system is not prevalent ?
(1) Kerala ' (2) Andhra Pradesh
(3) Tamil Nadu (4) Madhya Pradesh
88. srsamel ‘T e’ v wfa Reert 3.
(1) 2 (2 3, (3) 4 (4) 5
In mango, ‘A grade’ means fruits per kg.
(1) 2 (2 3 (3) 4 (4) 5
89. mﬁﬁawmmﬁmmﬁmrﬁm ?
(1) ad weel (2) W TG
(3) e GTTes AT SHeedl (4) =t wd
Which of the following fish/fishes used for fish culture in paddy fields ?
(1) Catla only (2) Rohu only
(3) Mrigal and Catla only (4) All above

| Soea TATETd! AT/ SPACE FOR ROUGH WORK
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190, Grefteryeht o farum sdie 3R /omda 7

(%) ‘gm o’ Fias avEdEh ve o,

(¥) ‘T (Taungya) FiNeE emEeie vga o,

(F) BT FIETETAA Fe JqF € Fivas arad=h e e,
(1) v (1) : (2) % ()

(3) (=) srifor (=) _ (4) (3) 3nfor (3)
Among the following statement which is/are true ?

(A) ‘Jhum cultivation’ is a system of Agro forestry

(B) ‘Taungya’is a system of Agro forestry
(C) Intercropping of banana under coconut is a system of Agro forestry

(1) (A) only (2) (B) only
(3) (B)and(C) (4) (A)and(B)
91. WEWIgIdiel YT T WY 5 Hid B 7
© (1) FEETR (2) FeETR (3) Te@s (4) HreTR
Where is the main Research Station of Pigeon pea in Maharashtra ?
(1) Badnapur (2) Kolhapur_ (3) Sindakheda  (4) Solapur
92.  Feu frdier faemmandt aifa waeeiier sraeen v smiq ?
(1) e 3@ g I e | (2) ooft 3 Tt e
(3) e A6 F FErrATd 40 (4) Toft 3 SiTT YR STy
‘Which of the following are the most critical stages for irrigation in pulses ?
(1) Branching and pod formation - (2) Sowing and branching
(8) Branching and flowering (4) Sowing and pod formation
93. HYINTG FUATH HE& TehT VR 3T 7
(37) ATRYY (&) @
(%) SN (8) dieh Freor

(1) % () (2) (30) snfor(a)  (3) (), (=) nfer (%) (4) wwwd
Which are the broad groups of tillage operations ?

(a) Ploughing (b) Harrowing
(c) Cultivating (Interculturing) (d) Harvesting '
(1) (a)only (2) (a)and (b) (3) (a), (b)and (c) (4) All above

94. myfa Wl v el Wi Ervarean wfEEe wrmr R Senas @) 7
(1) 33 6ad (2 137294 (3) 97 1099 (4) 67 9ad

Usually, how much time required for conversion of modern agriculture to sustainable
agriculture ? '

(1) 3-6years (2) 1-2years = (3) 9-10years (4) 6-9years
- THoeql HIATETS! WHTT/SPACE FOR ROUGH WORK
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95. T el Sidiesh-797 & s 1 2E 7 2o féhar wfiewrs .
(1) =R 3 : (2) A @ STt
(8) =TT (4) =R 3for ge3 Fel.
The chick pea variety BDNG- 797 is resistant to
(1) Pod borer (2) Leaf eating caterpillar
(3) Blight ' (4) Wilt and root rot
96. @refieieh Hroreht W et waiftra a7re 7
(1) ST (®) o+ (%) & (g) st dtgan
(1) (3), @), (®) @ &), (#) @) (30), @), (®) (4) =&
Which of the following terminology is related with irrigation ? '
(a) Delta (b) Crop period (c) Duty (d) Intensity of irrigation
(1) (a),(c), (d) (2) (@) (c) (3) (a),(b),(c) (4) All above
97. @refle faum aren @ 9 oY ST g .
( ) i ® Siaey™ a9 s Iwr 3.
?ﬁﬁ; Ly rﬂarr qzrma‘l A ATE. S
(1) (2 @) , T (1
(3) g%“l?\ m—g _ (4) g#nﬂ SR ATEN
Read the followlng statements and choose appropriate answer from the options :
(a) Sprinkler irrigation is suitable to almost all types of crops.
(b) Sprinkler irrigation is usually not suitable for heavy clay soils.
(1) (a)istrue, but(b) is not , (2) (b) is true, but (a) is not
(3) Both are true (4) Both are not true
98. T demdier el Afier raga Fivd Ea ?
(1) 3w (2) EIOL (3) o (4) #UTR U™
Which are the primary sex organs of the male bullock ? '
(1) Testes (2) Sperm (3) Semen (4) Back legs
99. Brer-Tem M= S :
(1) ®icts 2 rggéﬁ (3) f@mﬁa (4) T
The origin of Holstein-Friesian cow breed is
(1) Holland - (2) Scotland (3) Switzerland (4) England
100. =S Y IeUTEH T Wrefier el qarE gl
(1) FSU JAE (2) @=8 st
(3) @==3 giEr (4) ot wd
Methods of clean milk production includes following things.
(1) Health of the herd (2) Clean animals
(3) Clean surroundings (4) All above
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AT - (I3 1 F6 A TR.....)

(8) W yfEEed fafta Fetem fafire smi T FH (T6 Th) . g farhea i Stk
91 S FHIIRTR el M HA 3 Hidt FOIr1 IR e AR, U Il S 9 SHER
ISR EAH T Freten *“wlheqimed Bom= R sfiey Famamaad sfufiam-g2”
ITfteT TIETAR FRETS Wﬁaaﬁﬁm&ﬂm@aﬂhﬂwm/ﬁmm
T IR hHwAT ST Fag T g,

(9) wmmﬁ%m%mmémﬁmm:m
qﬁmmﬁﬁmwwmﬁaﬁ.muﬂmm@;awﬁqﬁﬁmnﬁm
I taaT wer - 1 FrAETHS 7 frawar uwwa @t sravas o,

[

AT 999
"W %. 201. Hi=h w1 T HoATETE Fof ged: e He 7
(1) @t ZaE qrEd (2) $vaaz faemamm
(3) T TR T : (4) MITEFST TrES

@m%a‘nua“ﬂt“I(S)nmmaqtfq”aﬁwﬁ.a@mmﬁm“(a)”ﬁgﬁr,m
AT 5 . 201 FHie Soi-gwi Q)" 2 ades Qv wriifed wed arafio
HETTF TR,

%20 @© © @ @

w%wwﬁﬁammmmmmmﬁmm
mﬁ%ﬁﬁammwﬂmwmﬁﬂaﬁéﬁaagawmﬁmmm.mﬁm
W SHIGAT VITEW AT Aot AfRrer & o O aras T,
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